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6.3 The Hyperbola
A  hyperbola is the set of all points in a plane for which the absolute value of the differences from two fixed points (the foci) is constant.  The center of hyperbola is the midpoint of the segment between the foci.  
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The segment V1V2 is the transverse axis.
The segment B1B2  is the conjugate axis. 

The standard equation of a hyperbola with center at the origin:

Transverse axis horizontal 
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y-intercepts: 
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  where 
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Transverse axis vertical 
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Vertices:  
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x-intercepts: 
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A hyperbola with horizontal transverse axis has 
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as asymptotes.

Sketching tip:  

1. Sketch the central box

2. Sketch the asymptotes

3. Plot the vertices

4. Sketch the hyperbola

6.3   Beecher, Penna, Bittinger, 3e
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